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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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##[EKECE (2400. 0 vs 4570.0) 35
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P3-3
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07:20 278 150.0 (Z=| 1BRi&e07:20 Bzh (REAERSE)
07:55 278 150.0 & =| 1Ri%e07:55 Bz (kAEREEE)
09:05 278 150.0 (Z=| {Ri%@09:05 Bz (FEAHERHSE)
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=3t] 4170.0 (15)%) 2250. 0 323 KEC: 2080.0, PH: 5.7

#H[EKRECE (2393.0 vs 4400.0) 35
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23t+]3058.0 (117%) 1650. 0 33 KEC: 2080.0, PH: 5.6

#HERECE (2370.0 vs 4120.0) 35
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